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why do we reject Ho when t is verysmall

Intuitively this makes sense But how to get
this from strict mathematical proof

Al c credit goes to Ganghwa

The family of normal densities has monotone

likelihood ratio property By Thin r2 9 on

Keener's book Theoretical Topics for a core course
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which means uniformly most powerful

And by checking the density of normal dist

we can show that
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Or we can use graphic understanding
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The power in the second case is larger than
that in the first case which then validates
the choice of rejection region


